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JE sz K& ouT IN SAax | KDCP | FRwbk [ K% ouT IN AR | KDCP | Rwbk [ K% ouT IN AR | KDCP | Rwbk
Ei X R2 40 37 77 8.4] 68.6| [6211 T BB 46 47 93 18 75| (12341 |RIETESE 50 56 106] 27.6| 784
BB |FHEEH 38 38 76 7.2 68.8| |63 fi ¥ 5k 49 44 93 18 75| 2441 (A0 FHFE 51 55 106 27.6 78.4
3 i A KR 45 46 91 21.6 69.4| |64 fif JK [E B8R 37 43 80 48| 752| 12541 |2 H EHE 41 46 87 84| 786
4 fi1 HEEF 46 50 96| 26.4 69.6| |65 %L Pug 43 43 86 10.8] 752 [126fx [dbAt EX 46 46 92 13.2 78.8
5 fiL HFE WE 40 43 83 13.2 69.8| |66 fiL HFE &N 41 45 86 10.8] 752 [127f1 |BFEZ 51 53 104 252 78.8
6 fiL k| 38 38 76 6 70| |67 4 FEH AT 46 46 92 16.8| 752 |128 %1 |3EEk —=% 54 50 104| 252 78.8
7 fi1 1EH Bsh 44 41 85 14.4 70.6| |68 fiL it —B8 49 49 98| 228 75.2| [1294% |KA BB 49 54 103 24 79
8 fir H o B 47 44 91 20.4 70.6] |69 fif EiH 257 52 46 98| 228 75.2| [1304x | EF 45 45 90 10.8] 79.2
9 fif Bk EE 51 52 103 32.4 70.6] |70 L it ®KE 48 50 98| 228 752| [1314% |FHFB 50 52 102| 22.8] 79.2
10 fif RE B= 42 42 84 13.2 70.8| |71 BERE 52 46 98| 228 75.2| [13214% BE fx 43 46 89 96| 794
11 ff Ho A 39 38 77 6 71| (72 4% (L3 IEBR 54 56 110 348 75.2| (1334 |m#h FE 45 44 89 96| 794
12 fif B8 FEX 43 44 87 15.6 71.4| |73 6t 1EK BB 43 42 85 96| 754| (13441 |$BB EBF 49 52 101 21.6| 79.4
13 fif WH Fit 44 43 87 15.6 71.4| |74 6L EX N 44 41 85 96| 754| (13541 |/hiEE H2 42 46 88 84| 796
14 fif AN 39 41 80 84| 716| |75{% A= 43 42 85 9.6| 75.4| |136f1 |FEZB B 47 46 93 13.2 79.8
15 fir BRE =/\80 49 43 92| 204 71.6| |76 L B AR 43 42 85 9.6| 754 (13741 |=iF AIX 46 47 93 13.2 79.8
16 fif =R — 47 45 92| 204 71.6| |77 6% EHE= 47 44 91 156 75.4| (1381 [FRFE= 51 48 99 19.2 79.8
17 fir EAR BE 50 48 98| 26.4 71.6| |78 fiL Pt EE 46 51 97| 216 754| [1394x |iEF BB 52 53 105| 25.2 79.8
18 fif HEHZ 48 43 91 19.2 71.8] |79 6L B A=ER 47 50 97| 216 754| (1404 |&FE EH 49 49 98 18 80
19 fir INFE A 46 51 97| 252 71.8] |80 fik FEE— 50 47 97 216] 754| (1414 [E Ex 56 48 104 24 80
20 fif ER K EE 40 38 78 6 72| [811{x & H Fih 53 56 109 33.6] 754 14241 |BIE E=F 55 55 110 30 80
21 fit FBERE= 40 38 78 6 72| (82 1{x e 41 42 83 7.2 758 1434z |EHFEE 51 52 103 22.8] 80.2
22 fif =) B 43 41 84 12 72| (83 {x o AL 45 44 89 13.2 75.8| (144 61 | KET ®HE 53 56 109 28.8] 80.2
23 fif (IREFS 46 44 90 18 72| (84 {1 FHEZ=X 46 43 89 13.2 758 |45 |BEH =58 53 62 115 34.8] 80.2
24 fif dx 8t 46 44 90 18 72| (85 1% BHHF— 51 44 95 19.2 75.8] 14646 [EH RKI 57 45 102 216| 80.4
25 fif K& # 43 40 83 10.8] 72.2| |86 ft I B as 49 46 95 19.2 758 14741 |FEH BHE 51 56 107| 26.4 80.6
26 fif #E 42 39 81 84| 726| (8711 A FE— 57 50 107 31.2 75.8| |148 %1  |dEk —if 59 54 113 32.4 80.6
27 fif FE # 42 39 81 84| 726| [881x Wi EriE 48 40 88 12 76| (14941 |HAK IEF 53 41 94 13.2 80.8
28 fif BE £ 43 44 87 14.4 72.6| |89 L i1 KE 45 49 94 18 76| (15041 |EAR=FX 52 53 105 24 81
29 fif i TR 43 44 87 14.4 72.6] |90 it BAR B 48 46 94 18 76| (15141 A B 60 61 121 40 81
30 fif AR 45 48 93| 204 72.6] |91 4L Bt H= 52 48 100 24 76| (15241 |FEH AE 47 51 98 16.8] 81.2
31 fi INE R 45 48 93| 20.4 72.6] |92 fit EDEL 54 46 100 24 76| (15341 |KEE EE 50 53 103] 21.6| 814
32 fif [RESRERS 49 44 93| 204 72.6| |93 L iy B e 51 49 100 24 76| (15441 |#JIl BhER 54 46 100 18 82
33 fi =g g = 37 49 86 13.2 72.8] |94 6L T8 RE 43 50 93 16.8| 76.2| |155{41 |#HEF 55 67 122 40 82
34 fif SE Y 44 46 90 16.8] 73.2| |95 ik EERE 44 49 93 16.8| 76.2| 15641 |FH EH 55 50 105 22.8] 82.2
35 fif S A— 48 42 90 16.8] 73.2| (96 ik b TS 50 49 99| 22.8| 76.2| [15741 |ARICE 46 59 105 22.8] 82.2
36 fif WA ER 45 38 83 96| 734| |97 ME ShiE 53 58 111 348 76.2| (1584 |FHEZHR 50 56 106] 22.8] 832
37 fif LIPS 41 42 83 9.6] 73.4| |98 Fi&ER 43 43 86 96| 76.4| (15941 |HE &iE 60 58 118 348 83.2
38 fif FafE £ 7 44 45 89 15.6 73.4| (99 i N=K3: 40 46 86 96| 76.4| (16041 |AEH Ft 55 61 116 32.4 83.6
39 fif FE KX 50 51 101 27.6 73.4| |100 4z |BAH AX 51 47 98| 216 764| (16141 |BE BN 66 58 124 40 84
40 fif TR IER 44 50 94| 20.4 736 1016 |£#F BEX 50 48 98| 216 76.4| [1624r |#%& mEF 63 60 123 38.4 84.6
41 f51 X & 42 52 94| 20.4 73.6] [|102 41 |ILE EX 53 51 104 276| 76.4| 16341 [B% KF 53 62 115 30 85
42 fif wWH KE 46 48 94| 20.4 73.6] 1034z |SHE 52 52 104 276| 76.4| 16441 |[IUNEF 57 55 12| 264 85.6
43 fiI 0 %A 53 53 106 32.4 73.6] |104 1 |BEE XX 42 43 85 84| 76.6| |165%1 |[BAEZ 71 48 119 32.4 86.6
44 f1 BH RE 39 42 81 7.2 73.8| (10561 |FHEE 49 48 97| 204 76.6| |166 4z |ME IEA 56 61 117| 25.2 91.8
45 fif BE RE 49 50 99| 25.2 73.8| |106 fi | LiFE BEE 52 57 109 32.4 76.6] 16741 |AM B2z 68 71 139 40 99
46 fiI FHE K 45 47 92 18 74| (10742 O ®A 53 49 102| 25.2 76.8] [NR 78)I FJ\ER
47 fif AR #BHE 50 42 92 18 74| (1084 |ILiB ESE 57 45 102 25.2 76.8] [NR INE PR
48 fiI B FHEF 47 51 98 24 74 109 {iL IRIR 85 53 55 108 31.2 76.8 NR fnug —3sh
49 fif it &A 47 57 104 30 74| (11041 |THEE 48 47 95 18 77| [NR VA RS
50 fif B A 53 51 104 30 74 11142 BRIF RN 53 48 101 24 77| [NR EES
51 fif Hd Bk 58 56 114 40 74 11241 [HE=E 52 55 107 30 77| [NR B Bk
52 fif KE 5 51 46 97| 228 742| (1131 @B EX 47 41 88 10.8] 77.2] |INR B Bk
53 fif HE BB 45 51 96| 21.6 744 (11446 |BHEE=S 44 43 87 96| 774
54 fif 7R HE 53 49 102| 276 744 |54 |EEHE 53 52 105 27.6| 77.4
55 fif T EZ 56 51 107 32.4 746 |116f1 |BER it 54 55 109 31.2 77.8
56 fif GEi" 43 45 88 13.2 748 1174 |UTF EE 41 43 84 6 78
57 i EA EE 43 45 88 13.2 748 |118fu |LH —F 52 56 108 30 78
58 fif BiR =28 48 46 94 19.2 748 119461  |/NEF Fth 50 51 101 228 782
59 fif ILIF IERR 50 50 100| 252 748 1204z |BAH EHF 48 53 101 228 782
60 fif EH 15— 45 48 93 18 75| (12118 |HE RE 46 42 88 96| 784
61 fif FHEERA 48 45 93 18 75| (12241 |BBAEHR 51 49 100] 21.6| 784




